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time (ps)

rel. occurence

taul/ps:  3932.0243
tau2/ps: -
al/counts: 426.4528
a2/counts: -
y0/counts: 0.0
al/(a1+a2): -

chi2R: 1.2021
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taul/ps: 1691.8366
tau2/ps: -
al/counts: 571.337
a2/counts: -
y0/counts: 0.0
al/(a1+a2): -

chi2R: 1.3546

taul/ps: 1708.8567
tau2/ps:  4247.0298
al/counts: 485.3065
a2/counts: 445.7604
yO/counts: 0.0

al/(a1+a2): 0.5212

chi2R:

1.1594
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fluorescence signal (counts)

rel. occurence
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014

taul/ps: 3957.4633
tau2/ps: -
al/counts: 832.8653
a2/counts: -
yO/counts: 0.0
al/(a1+a2): -

chi2R: 0.91318
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taul/ps: 1664.7482
tau2/ps: -
al/counts: 1026.171
a2/counts: -
yO/counts: 0.0
al/(al+a2): -

chi2R: 1.0715

taul/ps: 17249216
tau2/ps:  4191.5331
al/counts: 413.3924
a2/counts: 395.8816
yO/counts: 0.0
al/(al+a2): 0.5108
chi2R: 0.55805
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